Trida:3.A

Aj Bk 0+3=3 Aj5
Aj Dv 0+3=3 Aj1
Cj KiH 8+0=8 cela
Hv KriH 1+0=1 cela
M KfH 5+0=5 cela
Pé KiH 1+0=1 cela
Prv KriH 3+0=3 celd
Tv KfH 2+0=2 cela
Vv KfH 2+0=2 cela
Dv 0+2=2 Nab
NSz Hj 0+2=2 NSz
Celkem: 22+10=32

Trida:3.B

Aj Cd 0+3=3 Aj2

Aj Pt 0+3=3 Aj6

Cj Ka$ 8+0=8 cela
Hv Kas 1+0=1 cela
M Kas 5+0=5 celd
Pé Kas 1+0=1 cela
Prv Kas§ 3+0=3 cela
Tv Kas 2+0=2 cela
Vv Kas 2+0=2 cela

Celkem: 22+6=28




Trida:3.C

Aj Bur 0+3=3 Aj3
Aj Vi 0+3=3 Aj7
¢j Mich 8+0=8 cela
Hv  Mich 1+0=1 cela
M Mich 5+0=5 celd
Pé Mich 1+0=1 cela
Prv Mich 3+0=3 cela
Tv  Mich 2+0=2 cela
Vv  Mich 2+0=2 cela
Celkem: 22+6=28

Trida:3.D
Aj Bk 0+3=3 Aj5
Aj Pt 0+3=3 A6
Aj Sou 0+3=3 Aj4
Aj Vik 0+3=3 Aj7
Cj Na 8+0=8 cela
Hv Na 1+0=1 cela
M Na 5+0=5 cela
Pé Na 1+0=1 cela
Prv Na 3+0=3 celd
Tv Na 2+0=2 cela
Vv Na 2+0=2 cela
NSz Hj 0+2=2 NSz
Celkem: 22+14=36




Trida:4.A

Aj Pt 0+3=3 Aj1
Aj Sou 0+3=3 AjS
Cj Mrz 8+0=8 Cela
Hv Mrz 1+0=1 Cela
M Mrz 5+0=5 Cela
Pé Mrz 1+0=1 Cela
Pri Mrz 2+0=2 Cela
Tv Mrz 2+0=2 Cela
Vla Mrz 2+0=2 Cela
Vv Mrz 1+0=1 Cela
NSz Hj 0+2=2 NSz
Celkem: 22+8=30

Trida:4.B

Aj Cd 0+3=3 Aj2

Aj Sou 0+3=3 AjS

Aj Vf 0+3=3 Aj6

Cj Bub 8+0=8 cela
Hv Bub 1+0=1 celd
M Bub 5+0=5 cela
Pé Bub 1+0=1 cela
Pfi Bub 2+0=2 cela
Tv Bub 2+0=2 cela
Vla Bub 2+0=2 cela
Vv Bub 1+0=1 cela
Dv 0+2=2 Nab
NSz Hj 0+2=2 NSz

Celkem: 22+13=35




Trida:4.D

Trida:4.C
Aj Bur 0+3=3 Aj7
Aj Dv  0+3=3 Aj3
Aj Vf 0+3=3 Aj6
Cj Kr 8+0=8 cela
Hv Kr 1+0=1 cela
M Kr 5+0=5 cela
Pé Kr 1+0=1 cela
Pri Kr 2+0=2 cela
Tv Kr 2+0=2 cela
Vila Kr 2+0=2 cela
Vv Kr 1+0=1 cela
NSz Hj 0+2=2 NSz
Celkem: 22+11=33

Aj Bur 0+3=3 Aj7

Aj VIP 0+3=3 Aj4

Cj Hm 8+0=8 cela
Hv Hm 1+0=1 cela
M Hm 5+0=5 cela
Pé¢ Hm 1+0=1 cela
Pri Hm 2+0=2 cela
Tv Hm 2+0=2 cela
Vla Hm 2+0=2 cela
Vv Hm 1+0=1 cela

Celkem: 22+6=28




Trida:5.A

Aj Be 0+3=3 Aj5
Aj Sou 0+3=3 At
Ci Sp 7+0=7 cela
Hv Sp 1+0=1 cela
Inf Do 0+1=1 Chl
Inf N 0+1=1 Div
M Sp 5+0=5 cela
Pé Sp 1+0=1 cela
Pii Sp 2+0=2 cela
Tv  Sp 2+0=2 cela
Vla Sp 2+0=2 cela
Vv Sp 2+0=2 cela
... Dv 0+2=2 Nab
NSz Hj 0+2=2 NSz
Celkem: 22+12=34

Trida:5.B

Aj Cd 0+3=3 Aj2

Aj VIP 0+3=3 Aj6

Ci Hu 7+0=7 cela
Hv Hu 1+0=1 cela
Inf Do 0+1=1 Chl

Inf N 0+1=1 Div

M Hu 5+0=5 cela
Pé Hu 1+0=1 cela
Pri Hu 2+0=2 cela
Tv  Hu 2+0=2 cela
Vla Hu 2+0=2 cela
Vv Hu 2+0=2 cela
NSz Hj 0+2=2 NSz

Celkem: 22+10=32




Trida:5.C

Aj Be 0+3=3 Aj5
Aj Dv  0+3=3 Aj3
Cj Da 7+0=7 cela
Hv Da 1+0=1 cela
Inf Gr 0+1=1 Div
Inf N 0+1=1 Chl
M Da 5+0=5 cela
P¢é Da 1+0=1 cela
Pri Da 2+0=2 cela
Tv Da 2+0=2 cela
Vla Da 2+0=2 cela
Vv Da 2+0=2 cela
Dv 0+2=2 Nab
NSz Hj 0+2=2 NSz
Celkem: 22+12=34

Trida:5.D
Aj Bur 0+3=3 Aj4
Aj VIP 0+3=3 Aj6
Ci Fr 7+0=7 cela
Hv Fr 1+0=1 cela
Inf Gr 0+1=1 Div
Inf N 0+1=1 Chl
M Fr 5+0=5 cela
Pé Fr 1+0=1 cela
Pri  Fr 2+0=2 cela
Tv Fr 2+0=2 cela
Vla Fr 2+0=2 cela
Vv Fr 2+0=2 cela
Celkem: 22+8=30




Trida:6.A

Aj Dv 0+3=3 Aj5

Aj Sou 0+3=3 Aj1

Cj He 5+0=5 cela

D Be 2+0=2 cela

Fy K 2+0=2 cela

Hv Hj 1+0=1 cela

InNf Do 0+1=1 Div

Inf Pru 0+1=1 Chl

M Bi 4+0=4 cela

Ov He 1+0=1 cela

Pé KiJ 0+1=1 Div Chl

P¢ Si  0+1=1 Div Chl

PF Bi 2+0=2 cela

Tv Kv 0+2=2 Chl

Tv S 0+2=2 Div

Vv Me 2+0=2 cela

Vz Al 1+0=1 cela

Z F 2+0=2 cela
Dv 0+2=2 Nab

Celkem: 22+16=38

Trida:6.B
Aj Cd 0+3=3 Aj4
Aj Dv 0+3=3 Aj5
Cj E 5+0=5 cela
D Ma 2+0=2 cela
Fy K 2+0=2 cela
Hv Hj 1+0=1 cela
Inf N 0+1=1 Div
Inf Pru 0+1=1 Chl
M N 4+0=4 cela
Ov He 1+0=1 cela
Pé KiJ 0+1=1 Div Chl
Pé Mn 0+1=1 Div Chl
PF S 2+0=2 celd
Tv Kv 0+2=2 Chl
Tv S 0+2=2 Div
Vv So 2+0=2 cela
Vz Ji 1+0=1 cela
Z Kv  2+0=2 cela
NPal Vn 0+2=2 Pal1
NSz Hj 0+2=2 NSz

Celkem: 22+18=40




Trida:6.C

Aj Cd 0+3=3 Aj4
Cji Ma 5+0=5 cela
D KiDr 2+0=2 cela
Fy Mn 2+0=2 cela
Hv Hj 1+0=1 cela
InNf Do 0+1=1 Div
Inf Pru 0+1=1 Chl
M Nv  4+0=4 cela
Ov He 1+0=1 cela
Pé Nv 0+1=1 Div Chl
P¢ Pt 0+1=1 Div Chl
PFr S 2+0=2 cela
Tv Kv 0+2=2 Div
Tv S 0+2=2 Chl
Vv Pt 2+0=2 cela
Vz Ji 1+0=1 cela
Z F 2+0=2 cela
Dv 0+2=2 Nab
NPal Vn 0+2=2 Pal1
Celkem: 22+15=37

Trida:6.D

Aj Bur 3+0=3 cela
Cj Bk 5+0=5 cela
D Bk 2+0=2 cela
Fy Mn 1+0=1 cela
Hv Hj 1+0=1 cela
InNf Do 1+0=1 cela
M Mn 4+0=4 cela
Ov Kifiv 1+0=1 cela
Pé Kad 0.5+0=0.5 cela
Pé Kv 0.5+0=0.5 cela
PP S 2+0=2 cela
Tv Kv 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Ga 2+0=2 cela
Vz Mn 1+0=1 cela
Z Kfiv  1+0=1 cela
Bk 1+0=1 cela
VCM Mn 1+0=1 cela
NSz Hj 0+2=2 NSz
Celkem: 27+6=33




Trida:6.M

Aj Be 3+0=3 cela
Nj Vf 2+0=2 cela
Cj Bk 4+0=4 celd
D Bk 2+0=2 cela
Fy K 2+0=2 cela
Hv Hj 1+0=1 cela
Inf Gr 0+2=2 Div Chl
M Vo 4+2=6 cela Div Chl
Ov Bk 1+0=1 cela
Pé Nv 0+1=1 Div Chl
Pé Sam 0+1=1 Div Chl
Pr Bi 1+0=1 celd
Tv Kv 0+2=2 Div
Tv S 0+2=2 Chl
Vv Me 2+0=2 cela
Vz F 1+0=1 cela
Z F 1+0=1 cela
Celkem: 24+10=34

Trida:7.A
Aj Dv 0+3=3 Aj1
Aj Pt 0+3=3 Aj5
Nj Ma 0+2=2 Chl
Nj Vf 0+2=2 Div
Cj He 4+0=4 cela
D E 2+0=2 cela
Fy KiJ 2+0=2 cela
Hv Hj 1+0=1 cela
Inf N 0+1=1 Div
Inf Pru 0+1=1 Chl
M K 4+0=4 cela
Ov He 1+0=1 cela
Pé¢ K 0+1=1 Div
Pé Kad 0+1=1 Chl
Pr S 2+0=2 cela
Tv Kv 0+2=2 Div
Tv  Mr 0+2=2 Chl
Vv Me 2+0=2 cela
Vz F 1+0=1 cela
Z Kfiv 2+0=2 cela
Celkem: 21+18=39




Trida:7.B

Aj Pt 0+3=3 Aj5
Aj VIP 0+3=3 Aj2
Nj Ga 0+2=2 Chl
Rj Si 0+2=2 Rj1
Cj KiDr 4+0=4 cela
D KiDr 2+0=2 cela
Fy Mn 2+0=2 cela
Hv Hj 1+0=1 cela
Inf N 0+1=1 Div
Inf Pru 0+1=1 Chl
M Al 4+0=4 cela
Ov Al 1+0=1 cela
Pé Kad 0+1=1 Chl
Pé Nv 0+1=1 Div
Pr Al 2+0=2 cela
Tv Kv 0+2=2 Div
Tv Mr 0+2=2 Chl
Vv Pt 2+0=2 cela
Vz Al 1+0=1 cela
Z Kfiv 2+0=2 cela
NSz Hj 0+2=2 NSz
Kfiv  0+1=1 NVol
Celkem: 21+21=42

Trida:7.C

Aj Cd 0+3=3 Aj6
Aj Vf 0+3=3 Aj3
'.‘,lj Me 2+0=2 cela
Cj Me 4+0=4 cela
D Si 2+0=2 cela
Fy Bab 2+0=2 cela
Hv Hj 1+0=1 cela
Inf N 0+1=1 Chl
Inf Pru 0+1=1 Div
M Bi 4+0=4 cela
Ov Sam 1+0=1 cela
Pé Kad 0+1=1 Chl
Pé Nv 0+1=1 Div
PFr Al 2+0=2 celd
Tv S 0+2=2 Chl
Tv Sam 0+2=2 Div
VW Si  2+0=2 cela
Vz Sam 1+0=1 cela
Y4 Sam 2+0=2 cela
Celkem: 23+14=37




Trida:7.D

Aj Dv 3+0=3 cela
Cj He 4+0=4 cela
D Ji 2+0=2 cela
Fy Mn 1+0=1 cela
Hv Hj 1+0=1 cela
InNf Do 1+0=1 cela
M Mn 5+0=5 cela
Ov Kv 1+0=1 cela
Pé Kad 1+0=1 cela
Pé Nv 1+0=1 cela
Pr Bi 2+0=2 cela
Tv Kv 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Me 2+0=2 cela
Vz Kv 1+0=1 cela
Z Kv 1+0=1 cela

Sou 2+0=2 cela

Celkem: 28+4=32

Trida:7.M

Aj Be 3+0=3 cela
Nj Ma 2+0=2 cela
¢ E 4+0=4 cela
D E 2+0=2 cela
Fy Bab 1+2=3 cela Div Chl
Hv Hj 1+0=1 cela
Inf N 0+1=1 chl
Inf Pru 0+1=1 Div
M Do 4+2=6 cela Div Chl
Ov He 1+0=1 cela
P¢ K 0+1=1 Div
Pé Kad 0+1=1 Chl
Pf Vik 2+0=2 cela
Tv S 0+2=2 chl
Tv Sam 0+2=2 Div
Vv So 2+0=2 cela
Vz E 1+0=1 cela
4 Kfiv  1+0=1 cela

Kfiv  0+1=1 NVol

Celkem: 24+13=37




Trida:8.A

Aj Pt 0+3=3 Aj1
Aj Vi 0+3=3 Aj5
Nj Ma 0+2=2 Nj1P
Nj VI 0+2=2 Nj2
Cj Bk 4+0=4 cela
D Si 2+0=2 cela
Fy Bab 2+0=2 cela
Hv Hj 1+0=1 cela
Ch Bb 2+0=2 cela
Inf  Pru 0+2=2 Div Chl
M Vo 4+0=4 cela
Ov Kfiv 1+0=1 cela
Pé Kfiv 0+1=1 Div
Pé KiJ 0+1=1 Chl
PF S 2+0=2 cela
Tv  Kfiv 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv So 1+0=1 cela
Vz Kfiv 1+0=1 cela
Y4 Kfiv 2+0=2 cela
VRj Si 0+2=2 Rj1
NSz Hj 0+2=2 NSz
. Kiiv 0+1=1 NVol
Celkem: 22+23=45

Trida:8.B

Aj Vvf 0+3=3 Aj5
Aj VIP 0+3=3 Aj2
Nj Ma 0+2=2 Nj1P
Nj VIP 0+2=2 NJ4
Cj KiDr 4+0=4 cela
D KiDr 2+0=2 cela
Fy KiJ 2+0=2 cela
Hv Hj 1+0=1 cela
Ch Bb 2+0=2 cela
Inf N 0+2=2 Div Chl
M Nv  4+0=4 cela
Ov KiDr 1+0=1 cela
Pé KrJ 0+1=1 Chl
Pé Nv 0+1=1 Div
PFf Bi 2+0=2 cela
Tv  Kfiv 0+2=2 Chl
Tv  Sam 0+2=2 Div
Vv Me 1+0=1 cela
Vz F 1+0=1 cela
Y4 Kfiv 2+0=2 cela
VRj Si 0+2=2 Rj1
.. Dv 0+2=2 Nab
NSz Hj 0+2=2 NSz

Kriv  0+1=1 NVol
Celkem: 22+25=47




Trida:8.C

Aj Be 0+3=3 Aj3
Aj Vf  0+3=3 Aj5
Nj Ga 0+2=2 Nj3
Nj Ma 0+2=2 Nj1P
Cj Ji  4+0=4 cela
D Be 2+0=2 cela
Fy Mn 2+0=2 cela
Hv Hj 1+0=1 cela
Ch Bb 2+0=2 cela
Inf N 0+2=2 Div Chl
M Vo 4+0=4 cela
Ov Be 1+0=1 cela
P¢ K 0+1=1 Div
Pé KiJ 0+1=1 Chl
PF Al 2+0=2 cela
Tv Kv 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Sam 1+0=1 cela
Vz F 1+0=1 cela
Z Sam 2+0=2 cela
VRj Si 0+2=2 Rj1
Dv 0+2=2 Nab
Celkem: 22+22=44

Trida:8.D

Aj Cd 0+3=3 Aj4
Cj Me 4+0=4 cela
D KiDr 2+0=2 cela
Fy K 1+0=1 cela
Hv Hj 1+0=1 cela
Ch Bb 1+0=1 cela
Inf Pru 1+0=1 cela
M Vo 4+0=4 cela
Ov He 1+0=1 cela
Pé KiJ 1+0=1 celd
Pé Nv 1+0=1 cela
PF Bi 2+0=2 celd
Tv S 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Vn 1+0=1 celd
vz §i 1+0=1 cela
Z Kfiv 2+0=2 cela

Cd 2+0=2 cela

Kfiv 0+1=1 NVol
Celkem: 25+8=33




Trida:8.M

Aj Bur 0+3=3 Aj6

Nj Ma 2+0=2 cela

Cj Ma 4+0=4 cela

D KiDr 1+0=1 cela

Fy KiJ 1+2=3 cela Div Chl

Hv Hj 1+0=1 cela

Ch Bb 2+0=2 cela

Inf Pru 0+2=2 Div Chl

M Nv  4+2=6 cela Div Chl

Ov He 1+0=1 celd

Pé N 0+2=2 Div Chl

PF Vo 2+0=2 celd

Tv Kv 0+2=2 Chl

Tv Sam 0+2=2 Div

Vv Me 1+0=1 cela

Vz F 1+0=1 cela

Z Kfiv 2+0=2 celd
Celkem: 22+15=37

Trida:9.A
Aj Bur 0+3=3 Aj1
Aj VIP 0+6=6 Aj6
Nj Ga 0+2=2 Nj4
Nj Ma 0+2=2 Nj1
Cj Bur 4+0=4 cela
D E 2+0=2 cela
Fy Bab 2+0=2 cela
Hv Hj 1+0=1 cela
Ch Bb 2+0=2 cela
Inf N 0+2=2 Div Chl
M Bi 5+0=5 cela
Ov Ma 1+0=1 cela
P¢ K 0+1=1 Div
Pé¢ Kad 0+1=1 Chl
Pf S 2+0=2 cela
Tv Kv 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Me 1+0=1 cela
Vz Ne 1+0=1 cela
4 F 2+0=2 cela
NSz Hj 0+2=2 NSz
Kriv  0+1=1 NVo1
Celkem: 23+24=47




Trida:9.B

Aj Sou 0+3=3 Aj2
Aj VIP 0+3=3 Aj6
Nj Ga 0+2=2 Nj4
Nj VIP 0+2=2 Nj2
Ci E  4+0=4 cela
D E 2+0=2 cela
Fy KiJ 2+0=2 cela
Hv Hj 1+0=1 cela
Ch Bb 2+0=2 cela
Inf Pru 0+2=2 Div Chl
M Do 5+0=5 cela
Ov He 1+0=1 cela
Pé K 0+1=1 Div
Pé Kad 0+1=1 Chl
PFr Al 2+0=2 celd
Tv Mr 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Me 1+0=1 cela
Vz F 1+0=1 cela
Z Kv  2+0=2 cela
NSz Hj 0+2=2 NSz
Kfiv 0+1=1 NVo1
Celkem: 23+21=44

Trida:9.C
Aj Sou 0+3=3 Aj2
Aj Vf 0+3=3 Aj3
Nj Ga 0+2=2 Nj4
Nj Si  0+2=2 Nj3
Cj KiDr 4+0=4 cela
D Si 2+0=2 cela
Fy Bab 2+0=2 cela
Hv Hj 1+0=1 cela
Ch Bb 2+0=2 cela
Inf Pru 0+2=2 Div Chl
M Do 5+0=5 cela
ov Si 1+0=1 cela
Pé Kad 0+1=1 Chl
P¢ Si  0+1=1 Div
PFr Al 2+0=2 cela
Tv Kv 0+2=2 Chl
Tv Sam 0+2=2 Div
vw Si 1+0=1 cela
vz Si  1+0=1 cela
Z Sam 2+0=2 cela
NPf Bab 0+1=1 FPr
Kfiv 0+1=1 NVo1
Celkem: 23+20=43




Trida:9.D

Aj Sou 0+3=3 Aj4
Cj Ji 4+0=4 cela
D Ji 2+0=2 cela
Fy Mn 2+0=2 cela
Hv Hj 1+0=1 cela
Ch Bb 1+0=1 cela
Inf Pru 1+0=1 cela
M Al 5+0=5 cela
Ov He 1+0=1 cela
Pé Kad 1+0=1 cela
Pé Nv 1+0=1 cela
Pr S 2+0=2 cela
Tv S 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Vn 1+0=1 cela
Vz Bb 1+0=1 cela
Z F 2+0=2 cela
Bb 2+0=2 cela
Celkem: 27+7=34

Trida:9.M
Aj Be 0+3=3 Aj5
Nj Si 2+0=2 cela
Cj Ji  4+0=4 celd
D Ji 2+0=2 cela
Fy Bab 1+2=3 cela Div Chl
Hv Hj 1+0=1 cela
Ch Bb 1+2=3 cela Div Chl
Inf Pru 0+2=2 Div Chl
M Gr 4+2=6 cela Div Chl
Ov Ji 1+0=1 cela
Pé Pru 0+2=2 Div Chl
PFf Vo 2+0=2 cela
Tv Mr 0+2=2 Chl
Tv Sam 0+2=2 Div
Vv Vn 1+0=1 cela
Vz Ji 1+0=1 cela
Z F 2+0=2 cela
NCh Ber 0+1=1 NCh
NPf Bab 0+1=1 FPr
Kfiv 0+1=1 NVo1
Celkem: 22+20=42




